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Paper / Subject Code: 81410 / Business Economics-1.

\O- \2-\8
(2 2 Hours)

" stal Marks: 75]

N.B : (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagram wherever necessary. 5
1. (A) State whether following statements are true of ,.fai'};se‘,_'(Any Eight) N

(1) An equation is true only for a specific va]ue S - :

(2) A variable is an identity whose quantlty;c n change ‘over a spe01ﬁed tune perlod. e

(3) Demand curve always slopes upward. - ‘ : o 4

(4) Geometric method measures the elastrcrty of demand at a pomt on the demand
curve. o .3 “7a

(5) The concept of iso-quants is used 1o explam the expansron path

(6) Economies of scale help to reduce the cost of productlon

(7) A monopoly firm and industry are 1dent1cal

(8) A firm under perfect competmon mcurs heavy sellmg cost.

(9) Under marginal cost pncmg, prlces are determmed on the basns of ﬁxed cost
only. <

(10) Today firms produce a varlety of products rather than a single product.

(b) Match the fol]owmg (Any seven) ) % il 7

Growp A~ . [ B o Growp B
1. | Slope Ma s b O P D) ;
2. | Graphs. . _ -
3. | Demand: functlon i ..Next best altematlve use
4. [RS8 1’}i:{,;f. © - |d.| Few.sellers
5.0 l‘LaiW”‘ofret'urns'to sc’jale" ~ = e | Refers to change in one variable due
g € - B o B - -‘f:“;-”;to change in other variable
B _.,Opportumty cost = B AP R FOPEC
;7‘.;'_Ohgopoly . . | g | Monopoly
<} 8. |Cartel Cost incurred in producing an
2 o P W e R g g additional units of output
9. /| Discriminating pricing < long-run production
© 10 Marginalcost™ . o j- | show the pictoral presentation and the
B ey ¥ relationship between two variables

4 2 A A“)fviExpi\ai!"‘-‘.thf: natureof ‘demand curve under perfect competition.

8
~(B) Discuss the types of cross elasticity of demand. - y
OR
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.C) The demand schedule for an industry in a purely competitive market is given as

follows —
Q =500 -3P

The short-run supply schedule of ' industry is as follows-

Q=-3+8P

Questions- ~ AR S
1. What is the equilibrium price and quantlty the 'rn:arke,t?_ ¥

2. What is the total expenditure incurred by th > consumers"
3. Calculate the total revenue of the ﬁrms

(D) Discuss the survey method of d“em’a'ndv foreeaSt;ing.

3. (A) Explain the law of dlmlmshmg margmal retums wrth the help of an
illustration and suitable dlagr it
(B) Discuss the types of i 1nten a economtes of scale
e ()A{j’_f A :
(C) From the following cost functlon— ¥ ‘
TC =100+ SOQ + 4Q2

Questions-
1. Calculate TFC , TVC; AVC

2 F ind out AC, ATC and AFC 1f the output is 10:

(D) Exp]am wnth the help of dlagram the céncept of break -even analysis.
4. (A) Explam the long run equ1lrbrlum of prxce and output of the industry under
perfect competmon .
- (B) Dlscuss the. equnhbnum of a ﬁrm under monopohstlc competition in
short-run S S
(C) stcuss the various types of pnce leadershlp
(D) What s prnce ngldlty'? Dnscuss 1t with the help of suitable diagram.

BN (A) DISCUSS the ments and demerits of full cost pricing.
(B) Explam the concept of transfer pricing without external market.
“OR
erte short notes (Any: Th ree)
R \_(a) Use of margmal analysis in decision making.
L Ehy: Types of price e]astrcxty of demand.
{©). Rldge lines.
- (d) Kmky demand curve.

. '(e) Types of price discrimination.
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